Platz Mannschaft Spiele Spielverh. Satzverh. Quotient Gehietgﬁga Grazﬂ_lmgehung
1 POS S 1 22 19 . 3 0O: 0O

2 UWEK /1 22 16 : 6 D: 0 12009/10 ~
2 AT 22 d5: 7+ 0@ Durchgang A, Runde 1
4 UTT f 2 21 14 1 7 0D: O his
5 MUEN f 2 22 13 : 9 0: 0 Durchgang B, Runde 14
6 SLD /6 21 11 : 10 o: 0
7 LAS f 1 Z1 9 : 12 0D: 0
8 UWK f 2 22 g 18 0D: 0 Neue Abfrage:
9 UTT /3 22 8 : 14 0: 0
UWI-‘I‘:' = 5% i SR B % Klasse: |Herren l] iGGHj
11 SIE [/ 4 21 6 : 15 0: O von: [A ¥ 1
12 LAS f 2 20 1: 19 0: O picy  lE# TR

| berechnen




